
D
VK 75m

m
 l=20 m

b

YAKXS 4x35 Lw
=19m

/Lc=31m

L1

D
VK 7 5m

m
 l=21m

b

YAKXS 4x35 Lw
=20m

/L c=24m

L2

D
VK 75m

m
 l=20m

b

YAKX S 4x35 Lw
=19m

/Lc=23m
L3

D
VK 75m

m
 l=20m

b

YAKXS 4x35 Lw
=19m

/Lc=23

L4

D
VK 75m

m
 l=15m

b

YAKXS 4x35 Lw
=14m

/Lc=18m

L5

D
VK 75m

m
 l=19m

b

YAKXS 4x35 Lw
=18m

/Lc=22m

L6

D
VK 75m

m
 l=23m

b

YAKXS 4x35 Lw
=22m

/Lc=26m

L12

D
VK 75m

m
 l=26m

b

YAKXS 4 x35 Lw
=25m

/Lc=29m
L11

D
VK 75m

m
 l= 22m

b

YAKXS 4x35 Lw
=21m

/Lc=25m

L10

D
VK 75m

m
 l=27m

b

YAKXS 4x35 Lw
=26m

/Lc=30m

L9

D
VK 75m

m
 l=19m

b

YAKXS 4x35 Lw
=18m

/Lc=22m

L8

D
VK  75m

m
 l=22m

b

YAKXS 4x35 Lw
=21m

/L c=25m

L7

L13

D
VK 75m

m
 l=17m

b

YAKX S 4x35 Lw
=16m

/Lc=20m
L15

D
VK 75m

m
 l=19 m

b

YAKXS 4x35 Lw
=18m

/Lc=22m

L16

D
VK 75m

m
 l=18m

b

YAKXS 4x35 Lw
=17m

/Lc=21m

L17

D
VK 75m

m
 l=18m

b

Y AKXS 4x35 Lw
=17m

/Lc=21m

L18

D
VK 7 5m

m
 l=20m

b

YAKXS 4x35 Lw
=19m

/L c=21m

L19

D
VK 75m

m
 l=20m

b

YAKXS 4 x35 Lw
=19m

/Lc=21m

L20

L14

L22

D
VK 75m

m
 l= 14m

b

YAKXS 4x35 Lw
=13m

/Lc=17m

L21

DVK 75mm l=20mb

YAKXS 4x35 Lw=19m/Lc=23m

DVK 75mm l=22mb

YAKXS 4x35 Lw=21m/Lc=25m

DVK 75mm l=20mb

YAKXS 4x35 Lw=19m/Lc=23m
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0,45%
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Łąc zny spadek napięcia do ostatn iej latarni:

Lw
 - długość w

ykopu
Lc - długość kabla

L - P
rojektow

ane  opraw
a ośw
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LE

D
 23,5W
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R
I>
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65, kolor antracyt,  

profil  A
l 150x150 h=

4m
. kpl z fundam

entem
 

i nakrętkam
i m

ontażow
ym

i +
kapturek m

askują cy.

BOP-A 0,5kV/5kA
Proj. odgromniki 

R<10Ω


